Corrections
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85, 1.5 {T>Tl—1} € Fn1 (n—1notn+1)

114, 1. 14 ~(t, s) =tsE(B(t)B(s)) = tsmin(t, s)
15, 1. 17 E [ X2(s)ds < oc

213, Example 8.4. Should be {T" > t} instead of {T" < t}.
254, 1. 10 random time 7" (not t)

272, 1. 13, 16 e**1/2 got lost, e““/QQ(X > a)

395, Exercise 5.4 should be sign +, e*(1 + fo e %dM (s))

Exercise 5.4 should be U%(t)d(B(t) + t)
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d

396, Exercise 6.2 z is missing next to o, L = ... — ax -

Exercise 6.7 insert % in front of second derivative

P-

401, Exercise 10.3 should be ®((u + 0? — K)/0)



